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Instruections for the Candidates

1. Write your Roll Number in the space provided on the top of this page.

2. This paper consists of fifty (50) multiple choice type questions. All questions are compulsory,

3.  Each item has upto four alternative responses marked (A), (B), (Chand (D). The answer should be
a capital letter for the selected option. The answer letter should entirely be contained within the
corresponding square,

Correct method A Wrong method 3 OR m

4. Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under
Paper I only.

5.  Read instructions given inside carefully,

6. Extra sheet is attached at the end of the hooklet for rough work.

7. Youshould return the test booklet to the invigilator at the end of paper and should not carry any
paper with you outside the examination hall,

8.  There shall be no negative marking,

9,  Use of calculator or any other electronic devices is prohibited.

10, Incase of any discrepancy in Gujarati and English version of Questions the English version should

be taken as final,
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iy :

EDUCATION
PAPER - II
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:This paper contains FIFTY (50) multiple-choice/assertion/reasoning

questions/matching questions. Each question carries TWO (2) marks.

Attempt All the questions.
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Which is the narrowest notion of
education 7

(A) Discipline

(B) Indoctrination

(C) Imparting information
(D) Preaching

The nature of
philosophy is :

educational

(A) Prescriptive
(B) Empirical
(C) Applicational
(D) Analytical

What is the educational implication
of secularism as constitutional
value 7

(A) All the religions should be

taught

(B) Students should not hate any
religion

(C) National curriculum should not
have strong religion
components

(D) All religions lead to better life
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Why does a teacher educator need

to study philosophy ?

{(A) To be a better classroom

teacher

(B} To be able to contribute to

educational philosophy

(C) To develop mature pedagogical

judgements
(D) To be a perfect human being

Dialectic materialism is the

philosophical premises of :
(A) Marxism

(B) Idealism

(C) Positive relativism
(D) None of the above

Which of the following is a

metaphysical aim of education ?

(A) Education for' good life

(B) Education for character
building

(C) Education for self-realization

(D) Education for cognitive

development
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..................... is against bookish

knowledge.

(A) Idealism

(B) Naturalism

(C) Jainism

(D) Realism

Islamic education does not profess :

(A) Peace

(B) Search for ultimate truth

(C) Brotherhood

(D) Purity

Which of the following is an

educational implication of logical

empiricism ?

(A) Mathematics must be a
compulsory subject

(B) Language analysis leads to
appropriate knowledge

(C) A careful study of experiences
should guide our behaviour

(D) Abstract thinking is the most

important skill for learners
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10.

11

14,

13.

The teacher who familiarises his

students with predicament of life
is :

(A) an idealist teacher

(Bl a pragmatist teacher
(C) an existentialist teacher
(D) a vedantic teacher

Who believes in ‘matter’ and
‘spirituality’ both as realities ?

(A) J. Krishnamurthy
(B) Sri Aurobindo

(C) Vivekanand

(D) Bertrand Russell

According to Buddhism the world
can be understood through :

(A) Law of causation
(B) Eight-fold path
(C) Divine grace

(D) All of the above

The non-dualist philosophy strongly
believes in :

(A) Only one ultimate goal of
education

(B) Non-contradicting aims of
education

(C) Individuals can follow their
own paths

(D)) The world and the God both
should be realised through

education
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14. Which is a primary group of the

15.

16.

society 7

(A) Family

(B) Caste

(C) Community
(D) Stratum

Which of the following is not related
with the concept of Educational

Sociology ?

(A) Class

(B) Caste

(C) Interaction
(D) Hobbies

Equal educational opportunities are

intended to :

(A) Provide for a ‘fair’ educational

system
(B) Iron out social discriminations

(C) Realise the goal of an

egalitarian society

(D) Provide ‘education for all
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17.

18.

18.

20.

Social thinkers equate education
with :

(A) Gender learning

(B) Institution learning

(C) Individual learning

(I3} Professional learning

Positive discrimination means :

(A) Equality of educational
opportunity

(B) Equity of educational
opportunity

(C) Equality of educational
outcomes

(D) Equity of educational outcomes

Which of the following is net an

indicator of societal modernity ?
(A) High-rise buildings

(B) Democratic attitude

(C) Well constructed roads

(D) Well developed communication

network

The system directed by one single

person is :

(A) Democracy
(B) Mobocracy
(C) Autocracy

(D) Bureaucracy
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22.

(A)

(B)

(€

(D)

Through

21. Social change, primarily means :

Change in the lifestyle of an
individual

Change in physical facilities
available in a society
Change in the habits of a child

Change in the social

institutions

socialization of an

individual, we :

(A)

(B)

(C)

(D)

Develop affiliative tendencies
towards other individuals and
groups

Develop an unconditional
acceptance towards other
groups

Save an individual from the
prejudices of other people and
groups

Develop both affiliative and
tendencies

unconditional

towards other people and

groups
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23.

24.

25.

26.

Which one of the following is not

an attribute of culture ?

(A) Shared

(B) Transmittable

(C) Innate

(D) Learnt

The term ‘social stratification’ refers
to :

(A) Unstructured social inequality
(B) Unstructured social equality
(C) Structured social inequality
(D) Structured social equality
What is helpful to know the
socialization of the pupil ?

(A) Achievement in social science
(B) Parental status

(C) Non-academic interaction

(D) Prestige of the caste

Educational psychology seeks to
provide satisfactory solutions, except
the :

(A) What of education
(B) How of education
(C) Why of education
(D) When of education
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27.

28.

29.

Teacher should be sensitive to
individual differences emerging
from :

(A) Social factors

(B) Cultural fl;.{:tﬂt'ﬁ

(C) Psychological factors

(D) Socio-psychological factors

“Taxonomy of cognitive behaviours”
is one significant achievement as an
offshoot of..................school of
thought.

(A) Cognitivist

(B) Constructivist
(C)
(D)

Arrange the following levels of

Behaviouristic

Humanistic

cognitive domain in sequential

order from lower to higher :
(@)
(b)
(c)
(d)
(A)

Application
Analysis
Synthesis
Understanding
(d), (a), (B), (e)
(d), (b), (a), (c)
(b), (d), (e), (a)
(a), (d), (b), (c)

(B)
(C)
()
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30. The phenomenon of forgetting was

31.

32.

studied through experimentation

by :

(A) Hobbes

(B) Binet

(C) Simon

(D) Ebbinghaus

Behaviourism holds that any type

of learning requires :
(A) Systematic teaching

(B) A sequential mastery of

behavioural elements

(C) A set of learning experiences

for learners
(D) Interesting learning situations

Which of the following indicates the
correct sequence of stages of human

development according to Piaget ?
(@) Concrete operation

(b) Pre operation

(c) Formal operation

(d) Sensory motor

(A) (d), (B), (¢), (@)

(B) (d), (), (a), ()

(C) (d), (a), (), (c)

(D) (b)), (a), (c), (d)
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33. What does spontaneous recovery

mean in classical conditioning ?
(A) Instant response when desired

(B) Derived response in certain
time
(C) Correct response after

extinction
(D) Response without need

34. Main difference between classical
conditioning (CC) and operant
conditioning (OC) is that :

(A) classical conditioning (CC)
emphasises on elicited
behaviour while operant
conditioning (OC) on emitted

behaviour

(B) CC emphasises. on emitted
behaviour and OC on elicited
behaviour

(C) CC emphasises on sequential
behaviour while in OC it is not

(D) in CC the stimuli are external

while in OC they are not

external
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35.

37.

Learning in terms of connection
between stimulus and response is
the gist of :

(A) Cognitive theories

(B) Field theories

(C) Psycho-analysis

(D) Behaviourist theories
Vygotsky’s ZPD stands for :

(A) Zone of preparatory

development
(B) Zero probable disorders

(C) Zest for progressive

development
(D) Zone of proximal development

A person with average 1.Q. or lower

scholastic achievement with
remarkable consistent performance
in other spheres of activity may be

termed as :
(A) Gifted
(B) Creative
(C) Talented

(D) Good performer
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38.

39.

40.

The recent view is that individual
MI determines learning. Here MI

refers to :

(A) Motivational Index

(B) Memory and Intelligence
(C) Multiple Intelligence

(D) Mental Intelligence

Which is the correct order of steps

for
(1)
(2)
(3)
(4)
(5)
(A)
(B)

conducting research :
Reviewing the literature
Specification of the problem
Identification of the objectives
Collection and Analysis of data
Finding the results

(1), (2), (3), (4), (B)

(2), (1), (3), (4), (B)

(C) (2), (3), (1), (4), ()

(D) (3), (1), (2), (4), (B)

‘The effect of a model of teaching
on learning style’ is an experimental
research carried out by a researcher.
The learning style in this study will
be :
(A)
(B)
(C)

(D)

Independent wvariable
Dependent variable
Control variable

Intervening variable
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41. In a school a child was found to have

behavioural problems of not

studying and showing unusual
behaviour. What type of study

would be more suitable to

understand this child ?
(A) Experimental study
(B) Historical study

(C) Descriptive study
(D) Case study

42. A research study which aims at

finding out the extent of

effectiveness of an educational

programme is called............research.
(A) Historical

(B) Descriptive

(C) Experimental

(D) Ewvaluation

43. For collecting data related to
students’ achievement in Science,

one may use.................as a tool.
(A) Test

(B) Questionnaire

(C) Interview

(D) Observation
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44,

45!

A researcher obtained achievement
scores of 100 students of VIII class.
In order to understand the
achievement of the whole group
which descriptive statistics would be

most suitable ?

(A) Median and Quartile Deviation
(B) Mean and Quartile Deviation
(C) Median and Standard Deviation
Mean and Standard Deviation

(D)

In a %2 table there are 7 columns
and 2 rows. The degrees of freedom

in this situation will be :
(A) 5
(B) 4
(C) 6

Dy 7

Education-I1
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46.

47.

Which of the following is an

example of a directional
hypothesis ?
(A) There is no significant

difference in the academic

performance of boys and girls

(B) The academic performance of

boys and girls differ

(C) There is no significant
relationship between IQ and
academic performance

(D) IQ is positively related to
academic performance

A researcher wants to study the

combined relationship of academic

achievement of students with their
home environment and school
environment. Which of the following
statistical technique should be used

for data analysis in this study ?
(A) Partial correlation

(B) Multiple correlation

(C) Chi-square

(D) Pearson’s correlation

Eduecation-II

46.

47.

Al [Rayas Geseudid

Belexe sy 9 7

(A) LSl 2 e9is T2l [Qeugly

Fad- 923 wels dsiad -l

(B) 9152141 21 e918s T tirL [Qendly

Mad-ui dslad

(C) oiflguiis 2 [Qeusly Rad- 922

Aeds wgoiy A2l

D) laviis v [Qensly FRad q22
Yrilcis Uiy &

s Auwiusd [@enedlaiiq Qeansla
Fadeel du-l 9 didiaze s
ALOLLAL  dldld@t HLEAL HY s
AsAG AL eUR 54l 5. Bl
weAlAHL HLURAlAL Yussw wie

O oAlAAumil 59 wissiaue{ly w@Af-Al

Guulol sl ASH 7
(A) »iils Aoy

(B) oiglan Aoy

(C) 514-49]

(D) [RUIAAAL HsAdius



48.

49.
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Of the following...............1s a rare

possibility in educational research.
(A) Field intervention

(B) Laboratory experiment

(C) Logical inquiry

(D) Descriptive study

The contribution of research in the

field of epistemology is :
(A) Prediction

(B) Description

(C) Explanation

(D) All of the above

The F-test is used to ascertain the

significance of the difference :

(A) Between two variables across
groups

(B) Between mean scores of two
groups

(C) Among mean scores of more

than two groups

(D) Among mean and median

scores of two groups
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